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(b) Calculate the following variances for June 2017:
(i) material price
(2)
(ii) material usage
(2)
(i) labour rate
(2)
(iv) labour efficiency
(2)
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(v) fixed produlction pverhead expenditure

(vi) fixed production overhead|volume.
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S (c) Suggest one possible reason for each of the following variances, as calculated in (b):
S8 S (i) material price
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~ D
(b) Calculate the current ordering costs for Material Z for one year.
(2)
) Calculate the current holding costs for Material Z for one year.
(2)
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N\
(e) Analyse which order quantity would be the best for Pine Ltd, giving a reason for
your answer.
(2)
(f) Explain two benefits to Pine Ltd of maintaining an effective inventory
management system.
(4)
e e
L ettt
(Total for Question 2 = 20 marks)
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(a) Calculate the following overhead absorption rates for 2017.

(i) Operational overheads per km
(5)
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(ii) Administration overheads per contracted delivery
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During December 2016, Laburnum Transport forecast that the total of administration
overheads would increase by 6% from 1 June 2017.

During June 2017, the business carried out the following:
+ 24 contracted deliveries
+ total distances of 27200 km.

(e) Calculate the total of over- or under-absorption of overheads in June 2017.
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(i) heat, light and power fixed cost for June 2017

(iv) cost of hiring one machine
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(2)
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(b) Explain one implication of using flexible budgets in terms of setting targets and
judging performance.
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r 3\

B Willow Ltd manufactures the GH33. There are two options for setting the selling price.

The following information is available for the two options.

Option One Option Two
Selling price per unit $12.50 $9.95
Estimated monthly demand (units) 10000 16000
Fixed costs per month $50700 $55590
Variable cost per unit $4.70 $4.50
Break-even point (units) 6500 ?

Additional information
1. Option One is the actual performance of the product in June 2017.
2. Option Two will be to increase production/sales to 16 000 units per month.

(a) Calculate the profit that Willow Ltd made in June 2017 by selling 10000 units of
GH33 using Option One.
(3)
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(d) Calculate the margin of safety for both options in units and as a percentage of
sales.
(6)
Option One:
Option Two:
J
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